YEAR 13 PRACTICAL 2
WORKED ANSWER

3.
a)
	Mixture
	Volume of KI /cm3
	Log10(Vol of KI)
	Time/s 
	Log10(1/time)

	A
	5
	0.70
	68
	-1.83

	B
	10
	1.00
	36
	-1.56

	C
	15
	1.18
	25
	-1.40

	D
	20
	1.30
	22
	-1.34

	E
	25
	1.40
	16
	-1.20



b)
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Gradient = ∆y/∆x = 0.9


So order of reaction = 1

4.
a)
Stopclock = ±1 s

Pipette = ±0.05 cm3


% error in stopclock = 1/68 x 100 = 1.47%



% error in pipette = 0.05/5 x 100 = 1.00%



total % apparatus error = 2.47%


b)
percentage error in answer = (1 – 0.9)/1 x 100 = 10%



greater than apparatus error


c)
n(H2O2) = 1 x 10-3


n(H) = 0.0125 (excess)



n(KI) = 5 x 10-4
a total of 2.5 x 10-4 moles of I2 are produced, and so 5 x 10-4 moles of thiosulphate ions are required to remove them

so this is the maximum amount of thiosulpate that can be added

5.
carry out the same experiment


using the same volume of KI (10 cm for example)


vary the amount of H2O2 and water accordingly to keep the total volume constant


eg:

	Mixture
	Vol(H2O2)
	Vol (water)

	A
	5
	20

	B
	10
	15

	C
	15
	10

	D
	20
	5

	E
	25
	0



Amount of thiosulphate ions added must not exceed 1 x 10-3 moles

Repeat as for experiment 1
